

www.phelpsimp.com

1611 Hwy 65 Hampton, IA 50441

Toll Free: (800) 568-4156 Phone: (641) 456-2534 Fax: (641) 456-2753

1502 G Ave Grundy Center, IA 50638 319-824-5247 800-397-8158

11213 Hwy 14 Greene, IA 50636 641-823-4702 800-522-3991

324 W. Maple Hubbard, IA 50122 641-864-2255 800-714-3359



Check out our other locations

Invoice To Account No.: 4775	Deliver To:	*** DOCUMENT COPY * * *	SER\	ICE INVOICE
ALLAN MENNING 1140 160TH STREET HAMPTON IA 50441	ALLAN MENNING 1140 160TH STRE HAMPTON IA 50	EET 0441	nvoice Number: Invoice Date: Branch: air Order Number: Payment Type:	126467 10/31/2013 3 5973 Finance
Phone: 641-456-2084	Phone: 641-456-2	2084		
THORS. CTT 100 ECC.		Eq	Make/Model: Meter Reading: Serial Number: Juipment Number: Page:	JOHN DEERE 8210 3364 RW8210P015323 18476W 1 of 4

GEN1- Retail COMPLAINT:

WHITE SMOKE AT EXHAUST.

Technician Comments:

Cust. brought in and said exhaust was smoking too much. Started and ran and found that tractor was burning oil. Pulled injectors and ran compression test, found number 4 was low. Pulled engine and pulled off head, found #4 had come apart. Pulled the pistons and sleeves out. Cleaned block and sent the head in. Put in new mains and rod brgs. Put in new piston pins and bushings. Installed new sleeves and pistons. Installed head and torqued. Put in reman, injectors and installed fuel lines. Put exhaust and intake manifolds with new gaskets and hardware. Replaced water pump and thermostats while eng. was out. Put in new front and rear main seals and new dampner. Put engine back on and torqued bolts. Put on new fuel and oil filters. Got eng. running and checked for leaks - ok. Put tractor on the dyno and broke in. Tractor had had 205 HP and no leaks.

CORRECTION:

\$4,484.21

WHITE SMOKE AT EXHAUST.

Technician Comments:

Cust. brought in and said exhaust was smoking too much. Started and ran and found that tractor was burning oil. Pulled injectors and ran compression test, found number 4 was low. Pulled engine and pulled off head, found #4 had come apart. Pulled the pistons and sleeves out. Cleaned block and sent the head in. Put in new mains and rod brgs. Put in new piston pins and bushings. Installed new sleeves and pistons. Installed head and torqued. Put in reman, injectors and installed fuel lines. Put exhaust and intake manifolds with new gaskets and hardware. Replaced water pump and thermostats while eng. was out. Put in new front and rear main seals and new dampner. Put engine back on and torqued bolts. Put on new fuel and oil filters. Got eng. running and checked for leaks - ok. Put tractor on the dyno and broke in. Tractor had had 205 HP and no leaks.

GRAWMONDBECKS - VALVE JOB RESURFACE HEAD FIT PIN B SERVICE ACCESSORIES

GRAWMONDBECKS - VALVE JOB RESURFACE HEAD FIT PIN B

Part Number 19H1801	Description CAP SCREW	CAEETY	Quantity 3.00	Unit Nett 1.02	<u>Value</u> \$3.06	Taxed Ind Y
	CAP SCREW	/ SALEII	3.00	1.54	\$4.62	Υ
19H2458		/	6.00	0.76	\$4.56	Υ
19H3579	CAP SCREW	/ live with it	1.00	8.00	\$8.00	N
3750	FREIGHT	(HAC ANICH III			\$2.00	V
3956	EPA FEE	Anna contract the same of the	1.00	2.00	\$2.00	



Hampton, IA 50441

Toll Free: (800) 568-4156

SCREW

PISTON PIN

WASHER

SEAL

O-RING

SPACER

BUSHING

TORSIONAL

R523306

R523525

R57771

R63845

R67092

R71732

R73783

R74008

RE24975

1611 Hwy 65

www.phelpsimp.com

1502 G Ave Grundy Center, IA 50638 319-824-5247 800-397-8158

11213 Hwy 14 Greene, IA 50636 641-823-4702 800-522-3991

324 W. Maple Hubbard, IA 50122 641-864-2255 800-714-3359

8.00

6.00

6.00

1.00

6.00

8.00

6.00

1.00

14.48

24.85

1.27

4.00

1.81

12.43

33.99

559.79

\$115.84

\$149.10

\$7.62

\$4.00

\$10.86

\$99.44

\$203.94

\$559.79

N

N

N

N

N

N

N

N



Phone: (641) 456 Fax: (641) 456-27		Check out our other	locations			
Invoice To Account No.: 477		* * * DOCUMENT	COPY * * *	SERVI	CE INVOI	CE
ALLAN MENNING	ALLAN MEN	NNING	Invoice Numl	ber:	126	3467
1140 160TH STREET	1140 160TH		Invoice D	ate:	10/31	/2013
HAMPTON IA 50441	HAMPTON	IA 50441	Brai	nch:		3
			Repair Order Num	ber:		5973
			Payment T	уре:	Fir	nance
Phone: 641-456-2084	Phone: 641	-456-2084				
			Make/Mo	odel:	JOHN DEERE	8210
			Meter Read	ding:		3364
			Serial Num		RW8210P0	
			Equipment Num	nber:		476W
			Р	age:		2 of 4
GEN1- Retail AR103220	STRAINER		1.00	18.28	\$18.28	N
AR48675	THERMOSTAT		2.00	9.72	\$19.44	N
AR54749	LUBRICANT		1.00	21.28	\$21.28	Ν
AR86745	FILTER ELE		1.00	21.64	\$21.64	N
R102882	SHIELD		6.00	4.64	\$27.84	N
R111932	HOSE		1.00	3.28	\$3.28	N
R121320	CAP SCREW		6.00	5.62	\$33.72	N
R121489	CAP SCREW		5.00	16.05	\$80.25	N
R121490	CAP SCREW		8.00	6.98	\$55.84	N
R121491	CAP SCREW		7.00	19.83	\$138.81	N
R125635	HOSE		1.00	6.60	\$6.60	N
R125855	GASKET		1.00	48.88	\$48.88	N
R44302	TIE BAND		12.00	0.09	\$1.08	Υ
R501035	CAP SCREW		13.00	5.62	\$73.06	N
R51936	PACKING		3.00	1.30	\$3.90	N
R523306	KEY	A1795060770	1.00	5.51	\$5.51	N



Hampton, IA 50441

Toll Free: (800) 568-4156

Phone: (641) 456-2534 Fax: (641) 456-2753

www.phelpsimp.com

1502 G Ave Grundy Center, IA 50638 319-824-5247 800-397-8158

11213 Hwy 14 Greene, IA 50636 641-823-4702 800-522-3991

324 W. Maple Hubbard, IA 50122 641-864-2255 800-714-3359



Check out our other locations

Invoice To Account No.: 4775

1611 Hwy 65

Deliver To:

*** DOCUMENT COPY * * *

SERVICE INVOICE

ALLAN MENNING					
1 1140 1601H STREET					
HAMPTON IA 50441					

Phone: 641-456-2084

ALLAN MENNING 1140 160TH STREET HAMPTON IA 50441 Invoice Number: Invoice Date: Branch:

126467 10/31/2013 3

5973 Repair Order Number: Finance

Phone: 641-456-2084

Payment Type:

Make/Model:

JOHN DEERE 8210

Meter Reading:

3364

Serial Number: Equipment Number: RW8210P015323 18476W

Page:

3 of 4

GEN1- Retail RE262484 DIODE	2.00	17.61	\$35.22	N	
INCLUDENCE DI INAP	1.00	492.90	\$492.90	N	
RE521502 WATER PUMP RE526962 ENGINE OVE	1.00	2,570.00	\$2,570.00	N	
RE529319 BEARING	2.00	27.04	\$54.08	N	
RE57394 OIL FILTER	1.00	16.85	\$16.85	N	
RE68327 RELAY	1.00	12.21	\$12.21	N	
SE501124 INJECTION NO	6.00	104.22	\$625.32	N	
SE501124-CR CORE for:Injection Nozzle Reman	-6.00	10.00	(\$60.00)	N	
	2.00	4.92	\$9.84	Υ	
1120101	1.00	5.95	\$5.95	Υ	
1120002	2.00	22.71	\$45.42	Υ	
TY26661 ENGINE BRE TY26663 ENGINE BREAK	1.00	110.92	\$110.92	Υ	





Hampton, IA 50441

Toll Free: (800) 568-4156

Phone: (641) 456-2534

1611 Hwy 65

www.phelpsimp.com

1502 G Ave Grundy Center, IA 50638 319-824-5247 800-397-8158

11213 Hwy 14 Greene, IA 50636 641-823-4702 800-522-3991

324 W. Maple Hubbard, IA 50122 641-864-2255 800-714-3359



Check out our other locations

Fax: (641) 456-2753 SERVICE INVOICE * * * DOCUMENT COPY * * * Invoice To Account No.: 4775 Deliver To: 126467 **ALLAN MENNING** Invoice Number: **ALLAN MENNING** 10/31/2013 1140 160TH STREET 1140 160TH STREET Invoice Date: HAMPTON IA 50441 HAMPTON IA 50441 3 Branch: 5973 Repair Order Number: Finance Payment Type: Phone: 641-456-2084 Phone: 641-456-2084 **JOHN DEERE 8210** Make/Model: 3364 Meter Reading: RW8210P015323 Serial Number: 18476W **Equipment Number:** 4 of 4 Page: GEN1- Retail \$4.58 Y 2.29 2.00 TOWEL TY26777 Total: \$10,139.74 Misc: \$10.00 Sublet: \$533.39 Parts: \$5,645.53 Labor: \$3,950.82 Miscellaneous Charges: \$50.00 SERVICE ACCESSORIES \$3,950.82 **Finance Information** Labor:

xxxxxxxxxxxx9000

- PARTS

- PURCHASE

Type: Multi-use Acct US

Card No.:

Bill Code:

Credit Plan: 249

Merchant No.: 36000229

120



Auth. No.: 940637

TERMS AND CONDITIONS

Repayment Terms:

Customer PO No.:

Tax Exempt No.:

Advisor:

ON FILE

KEN PUTZ

This purchase(s) is subject to the terms of the multi-use account, a service of John Deere Financial, f.s.b. I grant the issuer a purchase money security interest, except as limited in that agreement, in the goods described.





\$5,645.53

\$533.39

\$60.00

\$330.85

\$10,520.59

Parts:

Misc:

Total:

Sublet:

Sales Tax: